il
W
St
%
T

1. TE4
THE4 w20 8% MNUMXKkRE (Fo2) ILF
THEHA 8 [0 U A A P T 0 Ly T R St
2. THEHNE
1) HEI4 HEEREEE G LER
2) £ I & ERKG R T
3) T i 263 H [ H A T4 48 1H
A TFE12H19H
4) TEyE

-1- E ta2@d Ui




?

AN

%
T

TH4 | a2 0875 MIUMKXERE (£02) TH

TSy « TfE - FER B {7 ¥ & & # A bl A iR
JERRH R X 1 93, 968, 625
EHET = 1 57, 010, 009
HRHEI T = 1 48, 354, 337 | HEHI 8, 700 m3
LY A7 iy b FRLME PEEME 10, 000m3LA 150
, 000m3ATili ;
A 17, 320 m3
o =7 iy EEM 5, 000m3LL E
A 1, 300 m3
1A EROEASN OB /NS (REHE)
A 700 m3
WA SO T
b 1, 220 m3
0 CaBl- EHIRY £5Te) ;
b 12,130 m3
0 CaBl- EHIRY £5Te) ;
b E 4,070 m3
0 Cadl- EHIRY £5Te) ;
b 1, 250 m3
0 Cadl- EHIRY £5Te) ;
A 18, 020 m3
o
FHIA Ob-27) 18, 000 m3
+Hw 550, 000m3 AT ;
PEHI L (ICT) = 1 2,623,920 |#@HI (ICT) 8, 700 m3
w7 iy BEEMEL 10, 000m3 2L _E50, 000m
AT ;
BEARRSE AT = 1 242,840 | BEIR (FEEE) kL 40 m3
2. 5mATH
BRI + T (ICT) = 1 2,842,560 | & (BE42) BE 4 (ICT) 11, 200 m3
BRE LT = 1 246, 800 | BEARRE L 40 m3
2. SmAT ;

-1- E ta2@d Ui




il
W
St
%
I

TH4 | a2 0875 MIUMKXERE (£02) TH

TSy « TfE - FER B {7 % & A bl A iR
Rkt A = 595, 040 |{EMEETE (G) L) 160 m2
BGHRAE WS L S 1L RS s
EEEETIE T (ICT) = 2,104,512 |IEmEFEF (B)1556) (ICT) 1,310 m2
VY = WD R OWHE = CREPE L
TEHEFETE (8] 1356) (ICT) 390 m2
AT
BRI (B 1356) (ICT) 1,010 m2
EmEAEE O L
-7 my)FE (3R T = 957, 088
e+ T 2 14,124 |RYEY 1 X
+4)
HEL 1 2V
+4)
VAR VARV RN EVZA I VAR PYZ ) = 942,964 | BIGFTHAEay Y-} 5 m
18-8-40 (B J7) JEEHE 55cm B S 35¢m ;
BFT/ A akay ) -} 3 m3
18-8-40 (B JF) ;
avy )= (1) 77 ny )i 21 m2
P2 % 350 ;
JA - BEARE () 9 m3
FARAG RC-40 ;
Bl HT Ruiav - 0.5 m3
18-8-25 ()
EEEET = 1, 566, 761
TA7 7 Ml T X 1,566,761 | T @M (BE - BRI 363 m2
FEITyYr77 RC-40 AV E 100mm ;
T B GRIE ) 65 m2
FEITyYr77 RC-40 A VW E 150mm ;
e R (RE ) 65 m2
FADRLEE TS RM-25 {1 Y & 100mm ;
g (HEE - BRIF ) 65 m2

FEARLR AT 23 (20) SR 50mm 3. Ot

TAZIEE LN )R




il
W
>
%
I

TH4 | a2 0875 MIUMKXERE (£02) TH

TSy « TfE - FER B {7 ¥ & & A bl A iR

g (I - BIF ) 363 m2

FAEERLET ATy (20) EH%E)E 50mm 1. 4mAy
(1824 v S 1 v JE50mmEd T)

g (I - BIF ) 65 m2

PRI BT A2y (20) 4#2EE 50mm 3. Omtd ;
HEKHEEY T = 1 24, 082, 127
EELT 2 1 2,622, 709 |FRIE Y (EH) 1 X

/e =g

i 1 X
+4)

i 1 X
+4)

HEL 1 2V
-

HEL 1 2V
-

HEL 1 2V
/e =g

HmEEE 1 =X

FEHA O-27) 1 X
+Hw 550, 000m3 AT ;

T wb AT 1 =X
0 CaBl- EHIRY £5Te) ;

T wb AT 1 =X
E

AT = 1 15,516,468 |7 V¥vANUBLITE 73 m

450 X 450 ;

7" Vv A NUBRMAITE: 262 m
(P
600X 600 ;

H H A B 4 m
600X 1100 ;

NS 524 A

-3 - E ta2@d Ui




il
W
>
%
I

TH4 | a2 0875 MIUMKXERE (£02) TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
(P
600/ L=500 ;
illes= 3 r5e
(B )
Pe@H 600/ 1=500 ;
illes= 1 r5e
(B )
kA 600 1=500 ;
BET & 1 1,090,320 | Bkfhav))-bEE 28 m
600X 600 ;
AR v T 2 1 997, 100 | BIGHT HAEK P 1 ST
BUGFT#F 18-8-25 (f&i4F) 800800900 ;
BT B K 2 (£
BISGHTHAS 18-8-40 (F4F) 800 X 800X 2400 ;
NEZ 3 &30
B HTHA 18-8-25 (Fi4F) 300X 300X 800 ;
= 3 r5e
FdAREE 300X 300#E /X t=6. 0 HDZT77 & Wb
[EE ;
= 1 r5e
FdiREE 800X 800t/ t=6. 0 HDZT77 & Wb
[EE ;
= 2 r5e
7T Vv=Fv)T 3 800 X 800 T-25 K VPEIE ;
HEAKT = 1 3,855,530 |/NEBEHEAK 137 m
PTE 300mm PN 300mm ;
HEPEAK 3 m
ANIE 300mm NE 300mm ;
CEUEVZAR 212 m2
CINBEHEA)
t=5cm 18-8-25 (20) (&¥7)
CEUEVZAR 3 m2
(FEBEZK)

t=5cm 18-8-25 (20) (&¥F)

TAZIEE LN )R




il
W
>
%
I

TH4 | a2 0875 MIUMKXERE (£02) TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
illes= 5 r5e
300 40X 6X60 ;
IKEHEK = 73 m
RC-40 ;
A HKE 59 m
RC-40 ANfAfit=3. Omnm ;
SN 59 m
An=7" R, E &50em X IF120cm EIZEA 150-200 ;
Bh AT L 2 1 3, 505, 374
B LA T 2 1 3,505,374 | FE6E7 vy, B LA 137 &
FMAE LR ¢ 101. 6 X 3. 2X600mn ;
A - SR (ST B 1R 273 m
2mLL T 2m ;
P T = 1 2,163, 841
MEE: T = 1 2,163,841 |fEAREEE 42 m
7 HEAR 2BRHEAR (B VMEEE) ¢ 100X 1500 ;
HEER Tt 1 X
IR 105 m2
RC-40 t=100 ;
e S 1 X
HmEE 1 =K
HEE L = 1 1, 955, 365
e LT it 1 1,505, 424 |37 )Ml B L 88 m3
ERApIEEY) FAE T ;
EhAERR G 1 X
TAT 7 MEEERR 15emPL T
EhAE AR AR 65 m2
TA77 VMRS BEERE 10cm
TR AL T = 1 449,941 | EWR 7 m3
TAT 7V
i I 88 m3

-5 - E ta2@d Ui




il
W
>
%
I

T4 | w2085 MWUMKKE (F02) THE

TEHX4y « Tfd - FER B Az W B & #A i il A R
/) -hk (BRAD)
RISy 7 m3
TAT7IV NS
RISy 88 m3
/) -hk (BRAD)
A Y 1 2,728, 060
VE#IE 1k T Y 1 1,642,480 | F/AKALEE R 1 =
A AL 10m3 /hiffk ;
AEEHE T Y 1 1, 085, 580 | AZ 1M 5 E i B 1 =
[ERAE Xy = 1 93, 968, 625
IR 2 1 13, 812, 631
BISTIGE: = 1 4,312, 631
TE R = 1 2, 067, 600 | B ELRRAAN /) AR ST i 16 22 1 =
HeffrE sy = 1 1,309,031 |fR5FEHL(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
B R AT -MERE 1 =
BGRESCGES (5 1) = 1 936, 000
B (FEHL) = 1 9, 500, 000
T = 1 107, 781, 256
Bl gy 2 1 33, 541, 000
T =5l = 1 141, 322, 256
— R A 2 1 23, 157, 744

-6 - E ta2@d Ui




T4 | w2085 MWUMKKE (F02) THE

THX 4y - THE - flR B Az W B & HH i il A R
TS 2 1 164, 480, 000

TAZIEE LN )R




